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Linearized knot diagam
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\_ S Solving Sequence
1

3 1 - —> > 4.6 > — — — — — Co,Cq, C
A knot dlagranﬂ 8 a2 ,GC3 37225 1 9 210 = €264 Co

Ideals for irreducible component#ﬂ)f Xpar

It = (3u5 + 5u% - 4 b — 2, 11657 +20uC + - + 20 — 9, w8 +3uST 4. —u 1)
Iy=(b,a*+a+1, u—1)

* 2 irreducible components of dim¢ = 0, with total 70 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
I = (3ub"+5ub+.. . +b—2, 11u%"4+20u%¢+- . -+2a—9, u+3u"+...—u—1)

(i) Arc colorings

o ()

1
ag = \0
1
a7 = —u?
U
a2 =\ —ud +u
— b7 — 10u% + 2u+ §
ag = \ =3ub" —5uf0 + ... — 110u* 42
—u?+1
ag = \u* — 2u?
—Zu67—6u66+-~-—3u+g
— ST — S0 4 Bu— 1
ay = %u67+u66+~~+2uf%
—gu67—4u66+-~-—u+%
as = \ 6uS" + 11u% 4+ ... —u—5
—u3 + 2u
a1 =\ —ud4u
ub — 3ut 4+ 2u? + 1
ag = ub — 2ut + u?
—u? 4+ 4u” — 5u’ + 3u
a0 = \ —u® 4 3u” — 3u® +u
(ii) Obstruction class = —1
(iii) Cusp Shapes = 14u57 + 19u56 + ... — 9u — 17



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u%® + 30057+ —2u+1
C2,C5 w4+ 2+ 6u+1
€3 u%® —2u" £ ... —36u+9
C4,Co ub + " . —8u—4
Cg,C7,C12 w3+ -1
€85 €105 C11 u®® + 15u57 + - 4 152u + 16




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 YO 18y . — 62y + 1
C2,Cs Yo £330y 4+ —2y+1
€3 Y% +6y°7 + - + 4014y + 81
c4, Co Y% — 15457 ... — 152y + 16
Cg,C7,C12 y68 — 53y67 +--- =13y +1
€8, C10, C11 Y% + 73y57 + ... — 2592y + 256




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u = 0.895522 4 0.3513541
a= 0.535572 — 0.4666401
b= 0.419390 — 0.1661161

—2.40466 + 3.244261

—12.79487 + 0.1

u = 0.895522 — 0.3513541
0.535572 + 0.4666401

a =

—2.40466 — 3.244261

—12.79487 + 0.1

b= 0.419390 + 0.1661161

u = 1.030920 + 0.2451421

a = —0.144942 + 0.3004331 | —0.929775 — 0.6946251 0

b= —0.536018 + 0.0563171

u = 1.030920 — 0.2451421

a = —0.144942 — 0.3004331 | —0.929775 + 0.6946251 0

b= —0.536018 — 0.0563171

u = 0.057827 + 0.9086221

a = —1.03946 — 2.623311 7.88380 — 10.296501 —4.69943 4 7.279101

b= —0.97261 — 2.560921

u = 0.057827 — 0.9086221
a = —1.03946 + 2.623311
b= —0.97261 + 2.560921

7.88380 + 10.296501

—4.69943 — 7.279101

u = 0.042720 4 0.9031151
a= 0.65870 + 2.726121
b= 0.70317 + 2.644981

9.72190 — 4.905611

—2.02313 4 2.749221

u = 0.042720 — 0.9031151
a= 0.65870 —2.726121
b= 10.70317 — 2.644981

9.72190 4 4.905611

—2.02313 — 2.749221

u = 0.003428 4 0.8882701
a = —0.34321 + 2.845731
b= —0.00404 + 2.753611

9.88596 — 1.574741

—1.66767 4 2.295201

u = 0.003428 — 0.8882701
a = —0.34321 — 2.845731
b= —0.00404 — 2.753611

9.88596 + 1.574741

—1.66767 — 2.295201




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.013729 + 0.8811191
= 0.78129 — 2.82252]
0.31193 — 2.745541

8.18285 + 3.819881

—4.00036 — 2.432271

—0.013729 — 0.8811197
= 0.78129 + 2.822521
0.31193 4 2.745541

8.18285 — 3.819881

—4.00036 + 2.432271

0.040273 + 0.8625041
= —0.13886 — 1.983651
—0.31232 — 2.133851

4.10183 — 3.094201

—7.72899 + 2.662051

0.040273 — 0.8625041
—0.13886 + 1.983651
—0.31232 4 2.133851

4.10183 + 3.094201

—7.72899 — 2.662051

—1.186300 + 0.1279261
= —0.90918 — 1.241021
= 0.436322 — 0.1251831

—2.19445 — 0.932201

—1.186300 — 0.1279261
—0.90918 + 1.241021
0.436322 4 0.1251831

—2.19445 + 0.932201

1.187500 + 0.1811051
—0.228112 + 0.1404261
—1.199570 + 0.4508261

—1.34633 — 1.227381

1.187500 — 0.1811051
—0.228112 — 0.1404261
—1.199570 — 0.4508261

—1.34633 + 1.227381

—1.213540 + 0.1827721
0.391833 + 1.2560101
—0.311997 4 0.1001441

—1.54755 + 4.004081

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g

= —1.213540 — 0.1827721
= 0.391833 — 1.2560101
= —0.311997 — 0.1001441

—1.54755 — 4.004081




0.81938 + 1.639731

Solutions to I V—=1(vol ++/—=1CS) Cusp shape
= 1.247790 4 0.0697161
= 0.262311 — 0.5059661 | —4.41264 + 1.014141 0
= 0.81938 — 1.639731
= 1.247790 — 0.0697161
= 0.262311 4 0.5059661 | —4.41264 — 1.0141471 0

0.626055 + 0.3762611
0.779550 + 0.3342971
0.620215 — 0.0092221

—3.00525 — 2.854401

—15.4568 + 5.41931

0.626055 — 0.3762611
0.779550 — 0.3342971
0.620215 + 0.0092221

—3.00525 + 2.854401

—15.4568 — 5.41931

1.260630 + 0.1749201

1.88463 + 0.844471

= 0.502698 — 0.1142671 | —3.25504 — 5.418207 0
1.88463 — 0.844471

= 1.260630 — 0.1749201

= 0.502698 + 0.1142671 | —3.25504 + 5.418201 0

0.260329 + 0.6748921
0.059835 — 1.2005101
0.036602 — 0.1716211

—0.54570 — 7.129751

—8.28357 + 9.674701

0.260329 — 0.6748921
0.059835 + 1.2005101
0.036602 + 0.1716211

—0.54570 + 7.129751

—8.28357 — 9.674701

1.239520 + 0.4017151

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g

—0.64232 4 1.995451

= 1.098620 — 0.4332207 0.39705 — 1.438601 0
= —0.64232 — 1.995451

1.239520 — 0.4017151
= 1.098620 + 0.4332201 0.39705 + 1.438601 0




Solutions to I vV—1(vol +1/=1CS) | Cusp shape
u = 1.232810 + 0.4569221
a= 1.83683 — 0.038581 4.26036 + 5.428681 0
b= 0.38520 — 2.253061
u = 1.232810 — 0.4569221
a= 1.83683 + 0.038581 4.26036 — 5.428681 0
b= 0.38520 + 2.253061
u = —1.32040
a = —0.354230 —6.07475 0
b= 0.972963
uw=1.245710 + 0.4459291
a = —1.76468 + 0.318161 6.00508 + 0.090931 0
b= —0.09620 + 2.455811
u = 1.245710 — 0.4459291
a = —1.76468 — 0.318167 6.00508 — 0.090931 0
b= —0.09620 — 2.455811
u = —1.313060 + 0.2276511
a= 0.198042 4 0.7310271 | —3.29836 + 5.647621 0
b= 0.288228 + 0.4236141
u = —1.313060 — 0.2276511
a= 0.198042 — 0.7310271 | —3.29836 — 5.647621 0
b= 0.288228 — 0.4236141
u = —1.266290 + 0.4176611
a = —1.99000 — 0.318917 4.29886 + 0.828207 0
b= 0.23911 — 2.268171
u = —1.266290 — 0.4176611
a = —1.99000 + 0.318911 4.29886 — 0.828201 0
b= 0.23911 + 2.268171
u= 1.276200 + 0.4217641
a = —1.50037 + 0.937451 5.93444 — 3.111641 0

b= 0.671854 2.857311




Solutions to I} Vv—1(vol +/—1CS) Cusp shape
= 1.276200 — 0.4217641
= —1.50037 — 0.937451 5.93444 4 3.111641 0

0.67185 — 2.857311

0.194231 + 0.6241771
0.200700 + 0.9740731
0.166804 — 0.0507481

1.39398 — 2.634591

—3.83138 + 5.303361

0.194231 — 0.6241771
0.200700 — 0.9740731
0.166804 + 0.0507481

1.39398 + 2.634591

—3.83138 — 5.303361

—1.281690 + 0.4202351

U

a

b

U

a

b

U

a

b

U

a= 1.86247 + 0.634951 5.89281 + 6.256321 0
b= —0.54582 + 2.405941

u = —1.281690 — 0.4202351

a= 1.86247 —0.634951 5.89281 — 6.256321 0
b= —0.54582 — 2.405941

u = —1.339060 + 0.1716901

a = —0.296922 — 0.7871361 | —7.45261 + 2.999137 0
b= 0.164287 — 0.8265871

u = —1.339060 — 0.1716901

a = —0.296922 4 0.7871361 | —7.45261 — 2.999137 0
b= 0.164287 + 0.8265871

u= 1.288500+ 0.4127321

a= 1.35888 —1.170471 4.13145 — 8.452771 0
b= —1.01417 — 2.989051

u= 1.288500 — 0.4127321

a= 1.35888 +1.170471 4.13145 + 8.452771 0
b= —1.01417 + 2.989051

u = —1.305290 + 0.3965231

a = —1.154370 — 0.7149461 | —0.09743 + 7.612451 0
b

1.13010 — 1.945091




Solutions to I}

V=1(vol + y=1C)

Cusp shape

= —1.305290 — 0.3965231
—1.154370 4 0.7149461
1.13010 + 1.945091

—0.09743 — 7.612451

—1.364380 + 0.0364731
0.061668 + 0.2595101
—1.252540 4+ 0.3331671

—9.10989 + 3.712181

—1.364380 — 0.0364731
0.061668 — 0.2595101
—1.252540 — 0.3331671

—9.10989 — 3.712181

—1.347280 + 0.2398501
—0.322191 — 0.6256581
—0.620089 — 0.7009641

—5.60593 + 10.342007

—1.347280 — 0.2398501
—0.322191 + 0.6256581
= —0.620089 + 0.7009641

—5.60593 — 10.342001

0.352806 + 0.5233511
—0.429659 — 1.1782701
—0.416900 — 0.2303971

—2.23370 — 0.626601

—12.61670 4 3.835281

0.352806 — 0.5233511
—0.429659 + 1.1782701
—0.416900 + 0.2303971

—2.23370 4 0.626601

—12.61670 — 3.835281

—1.313460 + 0.4218831
1.43757 + 1.231241
—1.29435 + 2.562921

5.48960 + 9.645271

—1.313460 — 0.4218831
1.43757 — 1.231241
—1.29435 — 2.562921

5.48960 — 9.645271

—1.324500 + 0.4219251
—1.24973 — 1.421121
= 1.58602 — 2.582891

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
|

3.5636 4 15.05591
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Solutions to I* Vv—1(vol +/—1CS) Cusp shape
u = —1.324500 — 0.4219257
a = —1.24973 + 1.421121 3.5636 — 15.05591 0

b= 1.58602 + 2.582891

u = 0.013858 + 0.5380531
a= 093729 + 1.223131
0.676344 — 0.1091121

2.08272 — 1.407521

—0.96646 + 3.791171

u = 0.013858 — 0.5380531
0.93729 — 1.223131
0.676344 + 0.1091121

2.08272 + 1.407521

—0.96646 — 3.791171

u = —0.099088 + 0.4773261
a = —1.27945 — 1.927081
b= —0.871503 — 0.1813231

0.87080 + 3.063611

—3.02049 — 3.150381

u = —0.099088 — 0.4773261
a = —1.27945 + 1.927081
b= —0.871503 + 0.1813231

0.87080 — 3.063611

—3.02049 + 3.150381

u= 0.440851
a= 0.0522081
b= —0.459473

—0.831706

—11.9310

u = —0.189182 + 0.1153861
a = —0.02171 — 3.595311
b = —0.205879 — 0.5313021

—0.30583 — 1.794671

—2.23312 + 3.530081

u = —0.189182 — 0.1153861
a = —0.02171 + 3.595311
b = —0.205879 4 0.5313021

—0.30583 + 1.794671

—2.23312 — 3.530081

11



II. I3

(i) Arc colorings

o ()
= ()
o= (o)
o= (§
- ()
e (%)
= (1)
o= (5)
o= (3)
o ()
o= (0)

(ii) Obstruction class =1

(iii) Cusp Shapes = —4a — 11

(b, a2 +a+1, u—1)

12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2 1
c1,C3,Cs u° —u+
€2 u? +u41
C4, Cg, C9 U2
€10, C11
2
Cg, C7 (u — 1)
2
C12 (u + 1)

13



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 y2+y+1
Cs
C4,C8,C9 y2
€10, C11
—1)2
C6,C7,C12 (y )

14



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—=1C8S) Cusp shape
U 1.00000
a = —0.500000 + 0.8660251 | —1.64493 + 2.029887 | —9.00000 — 3.464101
b= 0
u = 1.00000
a = —0.500000 — 0.8660251 | —1.64493 — 2.029887 | —9.00000 + 3.464107
b= 0

15



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (u? —u+1)(u%® +30u’" + - —2u+1)
€2 (u? 4+ u+ 1) (u® 4+ 2657 + - 4 6u + 1)
€3 (u? —u+ 1) (u® — 2057 + .- — 36u +9)
C4,Cg UQ(U68+U67+"'*8U74)
Cs (u? —u+ 1) (u® 4+ 2057 4+ - 4 6u + 1)
C6, C7 (u—1)*)(u%® = 3u5" 4+ u—1)
s, C10, C11 u?(u%® 4 15057 4 - - + 152u + 16)
C12 (u+ 1)) = 3u5" 4+ u—1)

16



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 (2 4+y+ 1) (% + 18457 + ... —62y + 1)
Ca,C5 (v +y+ 1) (% 43057 +--- =2y +1)
c3 (y% 4+ 3+ 1) (4% + 657 + - - + 4014y + 81)
€4, Co y?(y%® — 15y°7 + .- — 152y + 16)
C6, C7, C12 ((y = D*)(y* = 53y° +--- =13y + 1)
€8, €10, €11 Y2 (y%® + 73y°7 + - — 2592y + 256)
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